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@ Qind- p-05p-9-0 Question 15- Two trains take 40 seconds to cross each other
running in opposite direction. The faster train crossed a person 1n

40 seconds and it 1s 640 meter long. If the speed of one train 1s &0

meter/sec more than the other then find the length of slower train.
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A. 200 meter
B 240 meter

C. 140 meter

D. 300 meter

E. None of these
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30 Question 1- The present age of P 1s twice the present age of Q

and present age of R 1s 8 years more than present age of Q. 16
year hence from now R will be 20% less than age of P. Find the

sum of present age of P and Q.

T 1- P ol IHM TR Q shl SHH 3T § ST & 3R R T IdH
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6 years
10 years

8 years

12 years
None of these @
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Question 2- (P — 12)2 =3p — 36
g2 —22q+ 117 =0

P>q
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p=q
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Question 3- (pz + 21p +108=0
_g* +27q+180 =0

E. P=q or relation cant be
established/P= q 3T HeT¥
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Question 4- (p2 + 12p + 35=0
g% +23q + 132 = 0
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Question 5- 18 boys and 12 girls together can do a work 1n 12
days while 74 boys and 30 girls can do the same work in 3 days. If

the efficiency of each girl 1s 50% less than the each child then in
how much time 5 boys, 5 girls and 5 child can do the same work.
T 5- 18 TASeh I 12 AS(hAT TUeh T Teh h1H okl 12 faAT H
Hohd & STefeh 74 T 3 30 TTeiehdl 3T 19 <kl 3 {1 O ot Tehd
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A. 10 days
B. 12 days
C. 20 days

D. 18 days

(E—None of these @
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@ 30 yestion 6- Four years ago average age of 16 member 1n a

group was 24 years. After 4 years a person of age 32 years

replaced by three person whose total age 1s 42 years. If the

A. 30 years youngest and the oldest person 1n the group 1s 8 years and 34
]Z' 2 (6) A year old then find the average of remaining person.
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@ 30 Question 7- Two person have sum in ratio 6:5. First person

invested sum for 12 years at 10% per annum simple interest

while second invested { t\20%,per annum compound

A. Rs 12000 interest. If the total amount is Rs 40,800 then find sum of there
B. Rs 22000\/ principal.
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None of these
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Egistli:zz-jﬂ-_ﬂ-o5p-39‘0 Question 8 to 12-What will come 1n place of question mark
(?) approximately.
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34.98% 0f 499.99 + 27.94% of 1250.01 =7.9x

499.99 &l 34.98% + 1250.01 =T 27.94% = 7.9x
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30 Question 9- 32.03X16.89 + 26X26.01 — x%of 1800 = 240

Be
BRXIF+ (26) — 184 = 210

SUT+EI6-2mg—19x A

197+ 1226730, £
b= 504 w8
I @5511




T A
Question 10{ 48.99X3% 70.01% of 60 — 11.89 X389 + x = 58.12

48.99%x3 + 60 =T 70.01% — 11.89%2.89 + x = 58.12
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Question 11- 178X 178 425.98% of 1268 — 1.25 of 727.96 = x- 93

\ﬁ\Q 17.8%x17.8 + 1200 hT 25.98% — 727.96 &1 1.25 = x- 93
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@ Qusin- p-05-¥=0 Question 13- Find the compound interest on a sum of Rs

q*- 1559+ 60=0

12500 at 12% per annum for 2 years.
T4 13- 12500 %9 <Al T 9L 2 W ok 11T 12% Jfd a9 hl T d

ka5, SATST T hITwIY|

. A. Rs 2180
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— 2 los D. Rs 4180
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